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Math 143
-In-Class Exam 3

Show your work for full credit & simplify your solutions. No calculators allowed

Write each function value as a cofunction if a complementary angle. (2 pts/problem)
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Find one angle @ that satisfies each of the following. (3 pts/problem)
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a. sin (6 +40°) = cos () b. csc 6= sec (39—26")
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3. Givensinx= i_, cosy= —<, xisinquadrantII, y is in quadrant [TT

a. Findcos{x—y) (5pts)
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b. What quadrant doéé x):l:;-\fali in? (2 pts)

4. Find the exact value of each of the following (4 pts/problem)

a. sin 105°(Hint 105°=60° + 45°)
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b. y=s00"(-12) (findy in radian measure) e
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4. Continued - Find the exact value of the following {4 pts)

c. sin 40° cos160° ~ cos 40° sin160° \J@

5. Ifthecos2 6 =13, 90°<p <180° (4 pts/problem) o 1D
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a. Findthesind. . b. Find the cos 6. ie |
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6. Evaluate each of the following, if it é;i;E;Wi;ptsfproblem)

a. arcsin (sin 7) b. cos (arccot 2)
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c. arctan (-1) d. cos™ (3)
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7. Consider the inverse sin function, y = sin-* x.

b. What g are coordinates of the function at its minimum? (2 pts) (-1, =)




Determine whether each statement is true or false. If false, correct the statement to make it true

(2 pts/problem)

a. sin(-&)=sind
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b. sec x cos x simplifies to cos’ x
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¢. Ifsinécos @ - sm 6 0 then the solution set is 180 °n, where n is any integer.
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9. Given tan émﬂi and tan ézi .Ilg_oié
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